Trigonometry (SOH CAH TOA) - Scaffolded Exercise - Finding a Side

Question:

(Label Sides)

16°

6cm

37°

18m A

Xxm

Xcm

5cm

58°

¥

2.7m

Xcm

Xxm

5m

SOH CAH TOA SOH CAHTOA)
Which Ratio? tan(x°)=0
A
Substitute tan(16°)= x
18
Rearrange 18 tan(16°)=x
Calculate Xx= 5.16m

(Round to 2DP)




Trigonometry (SOH CAH TOA) - Scaffolded Exercise - Finding an Angle

Question:

(Label Sides)

12cm

15cm

11.7cm

20cm

10m

¥

153 m

5.3cm

1.2m

1.3m 0.5m

SOHCAHTOA | (SOH)CAHTOA
Which Ratio? sin(x°)=0
H
Substitute sin(x®)=35
16
Inverse x° = sin™(5/16)
Calculate

(Round to 1DP)

x= 18.2°




